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QUESTION 1

Which two statements are true regarding the SQL Repair Advisor? (Choose two.) 

A. The SQL Repair Advisor can be invoked to tune the performance of the regressed SQL statements. 

B. The SQL Repair Advisor can be invoked even when the incident is not active for a SQL statement crash. 

C. The SQL Repair Advisor is invoked by the Health Monitor when it encounters the problematic SQL statement. 

D. The DBA can invoke the SQL Repair Advisor when he or she receives an alert generated when a SQL statement
crashes and an incident is created in the ADR. 

Correct Answer: BD 

 

QUESTION 2

View the Exhibit exhibit1 to examine the series of SQL commands. 

View the Exhibit exhibit2 to examine the plans available in the SQL plan baseline. The baseline in the first row of the
Exhibit is created when OPTIMIZER_MODE was set to FIRST_ROWS. 

Which statement is true if the SQL query in exhibit1 is executed again when the value of OPTIMIZER_MODE is set to
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FIRST_ROWS? 

A. The optimizer uses a new plan because none of the plans in the exhibit2 are fixed plans. 

B. The optimizer uses the plan in the second row of the exhibit2 because it is an accepted plan. 

C. The optimizer uses the plan in the first row of the exhibit2 because it is the latest generated plan. 

D. The optimizer uses the plan in the first row of the exhibit2 because OPTIMIZER_MODE was set to FIRST_ROW
during its creation. 

Correct Answer: B 

 

QUESTION 3

While performing the backup of the flash recovery area, you notice that one of the archived redo log files is missing. You
have multiple destinations for archived redo log files. What implications does it have on the backup of the flash recovery
area? 

A. The backup succeeds but it would be without the missing archived log. 

B. The backup fails because one of the archived redo log files is missing. 

C. The backup succeeds because it fails over to one of the alternative archived redo log destinations. 

D. During backup, you are prompted for the alternative destination for the missing archived redo log file. 

Correct Answer: C 

 

QUESTION 4

Evaluate the following statements: 

CREATE TABLE purchase_orders 

(pojd NUMBER(4), 

po_date TIMESTAMP, 

supplie_id NUMBER(6), 

po_total NUMBER(8,2), 

CONSTRAINT order_pk PRIMARY KEY(po_id)) 

PARTITION BY RANGE(po_date) 

(PARTITION Q1 VALUES LESS THAN (TO_DATE(?1-apr-2007?d-mon-yyyy?), 

PARTITION Q2 VALUES LESS THAN (TO_DATE(?1-jul-2007?d-mon-yyyy?), 

PARTITION Q3 VALUES LESS THAN (TO_DATE(?1-oct-2007?d-mon-yyyy?), 
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PARTITION Q4 VALUES LESS THAN (TO_DATE(?1-jan-2008?d-mon-yyyy?)); 

CREATE TABLE purchase_order_items 

(po_id NUMBER(4) NOT NULL, product_id NUMBER(6) NOT NULL, unit_price NUMBER(8,2), quantity NUMBER(8), 

CONSTRAINT po_items_fk 

FOREIGN KEY (po_id) REFERENCES purchase_orders(po_id)) PARTITION BY REFERENCE (po_items_fk); 

What are the two consequences of the above statements? (Choose two.) 

A. Partitions of PURCHASE_ORDER_ITEMS have system-generated names. 

B. Both PURCHASEjDRDERS and PURCHASEJDRDERJTEMS tables are created with four partitions each. 

C. Partitions of the PURCHASEJDRDERJTEMS table exist in the same tablespaces as the partitions of the
PURCHASEJDRDERS table. 

D. The PURCHASEJDRDERJTEMS table inherits the partitioning key from the parent table by automatically duplicating
the key columns. 

E. Partition maintenance operations performed on the PURCHASEJDRDERJTEMS table are automatically reflected in
the PURCHASEjDRDERS table. 

Correct Answer: BC 

 

QUESTION 5

The Database Resource Manager is automatically enabled in the maintenance window that runs the Automated
Maintenance Task. What is the reason for this? 

A. to prevent the creation of an excessive number of scheduler job classes 

B. to allow the Automated Maintenance Tasks to use system resources without any restriction 

C. to allow resource sharing only among the Automated Maintenance Tasks in the maintenance window 

D. to prevent the Automated Maintenance Tasks from consuming excessive amounts of system resources 

Correct Answer: D 
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